Lesson 14: Grammar Worksheet

Name: ‘ Score: ‘ /50

Print this page first and fill in your answers by hand. Scan this homework and save it as GW14-1.jpg, GW14-2.jpg,
etc. or combine them into a single GW14.pdf file. Create a folder "GW14" in your Drop Box and upload the files there.

A. Match the cause and effect phrases below. (1 x 6 = 6)

DED L zLidi a. HLH L=V TT,
MEE VT b. ££3(& AL LT,
={SA SAEILT c. [P (FSA)D LWTT,
ED3. HFEY BTLELT d. M EA LEYELT,
TARM 100TAT e. 2% >=AF A,
{FYzx RAT f. &M TEI,

B. Give the proper suggestion to each of the symptoms of illness or injury below. Use ~f=5&3T9 H or ~
LTzIES3HN (or LARLMESASLILY). (2 x 5 = 10)
1A BEMD WVDATT . ED5. ANAGEDEBRZATY,

B: £5T9H, Lo,
2. |A: BEN TT. HI=FEN LW=LATT,

B: 5Ty N, Lo,
3. A: Eb§ L\T:L\A/—Gj-o %@5\ 93¥’7‘b§bf:b\60

B: £5T9H, Lo,
4.|A: BA DHBNTNDATT . 2D, 3B (L) EFTRAZLILELEND,

B: #3TI M, Lo,
5. |A: TATITRUF Eo-ATT, L =T, LW f=<£T...

B: £5T9H, Lo,

C. Based on the example, state what you want to do and what you don't want to do. Use both VI=L» ("1 want
to V") for AR and VI=h > TLV% ("Someone wants to V") for &KL72. (2 x 6 = 12)

Example: |He: BRIZ{To1z6. fAlF LEZLVTT D,

AIR: SLWIZ OREYFLNTT A, TH, RAF—IF LIKETY,
Later, &L7= reports:

&LIZ: RERSZAIEBERIZITo6. SLWLIZ DIRYF=A>TWVET,

1. Her: BRIZT-o=5., {fF LEWLWTTh,

AZR:
Later, &L7= reports:

KLF=:

2. He: BAMAH =6, fIZELIZLNTT D,
Later, &L7Z reports:

AZR:




ELE:

Hh: BARENEFIZGS6, A& LWL TT D,
Later, &L7= reports:

AR

KLF:

E. Examine what B (Physician) is saying and create the approriate permission seeking question. Use VT#HL\
WLWTEh form. (2 x 3=6)

1.

A:

B: ¥ T—[EMFEVERADN. EA5BITIFE ALK [EFIH LUNTLED,
2.

A:

B: K% KATLZ [E5H LI\VTT 13,
3.

A:
B: SAIEF LWWTITN, Daxodik 2EYFEITH,

F. Respond to the following using ~&EHWET or ~TL&LS. 2x3=6)

1.

A: BEN GBS, HF=HLL S BRFEHA,

B:

A: ESLTE=D, BAREMN L&5TIC EFEFTH,

B:

A BLIN—TA—DH BT E ATELABYEE A ESLT=BNTLEIM,

B:




